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No. of Questions: 100 

Time: 90 Minutes 

wr<r : 90 fiRe 

Full Marks: 300 

~:300 

Note: (1) Attempt as many questions as you can. Each question carries 3 
(Three) marks. One mark will be deducted/or each incorrect 
answer. Zero mark will be awarded for each unattempted 
question. 

an'1'li1f"l'li" m '-lit ~ q;vJ 'liT WW! q;'{ I ~ w-l 3 ( <iR) ajq; 'liT tl 

lIriiCii 7Jffif Tr(( if; fffi!: 1!% 3fq; <fiTCT ,;f/i)'II' ~ 31:r~f{a w-l'liT 

QI'<I i 'Ii ~ itlJTl 
(2) If more than one alternative answers seem to be approximate to 

the correct answer, choose the closest one. 

'If!:: 1l:'l>Tf"l'li" ~'liFc% ;;-m mil;;-m i!; f.rq;z. m, -m f-l'li2a~ mil;;-m 

~I 

01. The Narional Game of India is ? 

(1) Cricket (:2) Football (3) Hockey (4) Badminton 

'iPi'f 'liT \T~ ~ i'; : 
(1) Ghihc (2) ':<ieen"," (3) l'<I'hl 

02. The amount of blood comes out from ventricle, per minute is called? 

(1) Cardiac Cycle (2) Cardiac Output 

(3) Cardiac Volume (4) Ventricle Volume 

Q.0-O '¥'It 'if! oii trJCriJi <it 0TICr'li 'iron if" q <il ' I ~ ill fll ~ 
(11 i'!iI(8~'!i ,"Ii,Folii'ij (2\ 'li1<8~'!i '31F3C3'"' 

13) '!i1'.8~'!i Q'"jLfji'ij (4) ~'if?-~'!ii'ij Q'iLfji'ij 

3 P.T.O. 
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03. A long distance runner must consume more quantity of : 

(1) Fat (2) Protein (3) Carbohydrate (4) Minerals 

C% ~ ~ <il 'IT"!'Ii <!iT ~ 1'fBIT i'f '3Q4)' I "IWlT ~ 11%l( : 

(1) ~ (2) J:i'ttA" (3) 'fi1.n~I~~e (4) (SlA0'I 

04. 

05. 

Ranga Swami Cup is awarded in : 

(1 ) Hockey (2) Football (3) Cricket 

"Mr ~ 'fi'=[ W:rr ~ ~ : 
(1 ) ~ (2) '!'ibMi (3) fu;ii;c 

HmOI,' we get injured in games? 

(1 ) Precaution habits 

(2) Long term training without rest 

(3) When rules of games are not followed 
(4) Over confidence 

~i'f""ot?t~=~~? 
(1) ~"lFfr 'lR'It ~ 
(2) WIT 0ffiIl1 <il ~ ~ ~ ~T~ 
(3) "l'! ~ <il A q !(j 'fiT 'lR'R 'llft 1ffirr 
(4) ~ ~ Fcr~qrn 

06. The weight of basket ball is : 

(1) 400-500 ounce (2) 500-600 gm 

(4) 567-650 gm (3) 567-650 ounce 

cii "iii c cii I <'I 'fiT "1R 1ffirr ~ 
(1) 400-500'~ 

(3) 567-650 G11'3'f1 

4 

(2) 500-600 lW! 

(4) 567-650 lW! 

(4) Volleyball 

(4) ElIMIE'IlM 
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07. Which of the following food stuff contains almost all ingredients of a 
balanced diet? 

(1) Meat (2) Milk (3) Chicken (4) Fish 

r-'l9fi'rmm if B ~ B ~ 'Kfe.T if fittfi'kl ~ if; ~-~ ,,'41= 'Nii\d[ ~ ? 
(1) '1ffi (2)~" (3) ~ (4) 11m'ft 

08. Against which country 'Maradona' scored the goal of the century ? 

(1) Brazil (2) Germany (3) Italy (4) England 

fiR1 ~~T if; fill!'"", "ihrm'lr" "l" ~r\iro4l 'liT >im f2n<rr ? 
(I) ~rGfliil (2) "f'f;ft (3) ~ (4) ~'8\oil 

09. The length and width of a volley ball court is ? 

(I) 17x9metre (2) 18 x 9 metre 

(3) 19 x 10 metre (4) 20 x 10 metre 

i'lI<'lr6lriil eiirt 'lit ~r~r~ qot '<'1l!er{ tmfr '& ? 
(1) 17 x 9lflcT (2) 18 x 9lflcT 

(3) 19 x 10 lflcT (4) 20 x 10 lflcT 

10. Which of the following concepts of health is the earliest concept? 

(1.1 The Bio-medical concept (2) The Psycho-social concept 
(3) The Religious concept (4) The EcologIcal concept 

f.V.iR'lfur\4 it B 'OR "ill ~ f21em'l1'1 ~ ~rifr'1 '& ? 

(]! err<iT ilr~q;iil ~ (2) Br~-elfliil ~ 
(3) 'lTfo/:F; ~ (4) ~'h"kilFl1q;iil ~ 

11. The height of human being is measured by? 

i I) Vernier scale (2) Weighing Scale 

~3J Stadia meter (4) Dynamo meter 

5 P.T.O. 
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~ '!\t J;q I~ 'liT "IT'l f't<!T "ffi1T i 
(I) 1'Hf.1'H ~ (2) .mcfl<'l crm ~ 
(3) «1"%'<1 ~ (4) sl~Z'i.n ~ 

12. Name the first Indian woman who won the Gold Medal in Asian games: 

(I) P. T. Usha (2) Sunita Rani 

(3) Shayni Abrahim (4) Kamajit Sandhu 

'lffi<! '!\t qqq '"1[%<'11 8[i}j""""ilij2tZ'i C(fu~'1 i't>B if 1:<1"1 'Wli = f't<!T 
(I) cTIo iTo '= (2) t!;{I<11 'IT'ft 
(3) ('m,.jl 0101TIl11 (4) 'h1'"11cf1<1"~ 

13. Which of the follO\ving game's playground has 'bonus line' ? 

(I) Basketball (2) Hockey (3) Kabaddi (4) Volleyball 

f.19R1ful<1 if B ~ ~ if; ~ ~ if "~ ~" iRn ~ 7 

(I) '41('if;~"II~1 (2) l<T'lit (3) 'h"l~$l (4) '11\1'1"11<'1 

14. In older age the common problem in eyes is : 

(1) Cataract (2) Black water 

(3) Squint eyes (4) Farsightedness 

'l'" 1 'I '!.'m if ~ 'liT ('11 '"11 ""l iM ~ : 
(I) ii\~'R (2) ~ q]C{ 

( 3) Rw§l 0'i'rel (4) 'Ii I( ('11 *~:g Z'i ('1 

15. Apparatus to measure fat percentage in body is ? 

(I) Anthropometer (2) Tensiometer 

(3) Skinfold Meter/Caliper (4) Flesometer 

~AA if <ruT qffi~m "IT'l ~ if; "q'h{"1 'liT 'WI i 
(I) Q;'1"!.I1cn<fic{ (2) Ro'1f<1'<l<fic{ 
(3) ff'h'1q;k:g ~/itRlq{ (4) 'Ii€l«t'il~{ 

6 
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16. One of the method of Teaching is ? 

(1) Writing story (2) Writing 

(3) Demonstration (4) Search 

M!ffUT 'liT t('fl <4 {)'hl ~ ; 

(I) 'h~I41 Gi(5l~1 

(3) II '11 fiJ 1 (1 ~ f?~"(5I"'1 '4""'1 

(2) Gi(5l~1 

(4) @"i'41 

17. The cause of postural defects/deformities is? 
(I) Balanced diet (2) Malnutrition 

(3) Extra diet (4) Sickness 

mq-'1JC[ ~.m (51 (I~.n /R1'\iRl.n 'liT EfiKOT % 
(1) fiWA<4 0-TT«R (2) '§<Ii~ul 
(3) '>IRlR'1<1 0-TT«R (4) 41 '11 {) 

18. Jogging at one spot; 

(1) Tightens muscles 

(2) Strengthens few muscles 

(3) Strengthens all the muscles except the hamstring 

(4) Weakens muscle 

t('fl 1ft ~ q-{ "cjj i7j '1" mit; 
(I) l1TB ~ if 'hBICl (J:m1T % 
(2) ':I);f§ l1TB -~ if 'f)@ 01ffiT ~ 
(3) " '1 ff{ 'T 'lit Ji:s 'Ii{ ~ <fffi i'tfu>it it 'Ii fII q '3fTffT ~ 
(41 >ihf ~ <'lit ~ "1'4101 % 

19. Long bones work in human body is ; 
(1) To give strength 

(2) To give shelter 

(3) To work as lever 

(4) To provide base for muscular joint 

7 P.T.O. 
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W"ft fi~i54f '!iT "IT'l"1" ~rm: if '!'IT 'liT"'! % ? 
(I) ffi'!iT1 ~ / ~WRf ="f ~ 
(2) 'lTI"l<! ~ 

(3) ~ ~ C'f"\fi 'liT'f ~ 
(4) '1(1 '13('1{ ""II ~ " '!iT 'lWlR ="f ~ 

20. During muscular contraction, if there is no change in the size of 
muscle, this contraction is said: 

(I) Isometric (2) Isotonic 

(3) Isokinetic (4) Kinetic 

<fiB i'\W:if of; m'l39'4 of; <f'!'1 01'R <fiB i'\W:if of; ~ if 'Iii{ 
qRClct'4 'ltt 1H <it "" ffj'l39'4 'liT ~ ~ : 
( I ) "11 " ffi i1 It'li (2 ) "1""1 "rift'rt-;I 8Tt11 f.1~'Ii 
(3) "11"ffi'liI,,"IR'Ii (4) 'li1,,"IR'Ii 

21. The number of Muscle pairs, found in human body are? 

"IT'l"1" ~rm: if <fiB iMI"! ::f'1 'fit ~ % ? 
(I) 200 (2) 250 (3) 300 

22. The position of India in 1 st Asian games was: 

l'I"fl1" l:!ftT"l'l iR1 if ~ '!iT ~ "IT : 

(I) I (2) II (3) V 

(4) 350 

(4) IX 

23. In one millilitre of blood the number of platelets is stated to be about? 

C('Ii fi'1 ",°1 ~ft" { <SB if c8'I "ok 'fit ~ i:im\ % : 
(I) 1,00,000 (2) 2,00,000 (3) 3,00,000 (4) 4,00,000 

24. Davis Cup is associated with: 

(I) Hockey (2) Volleyball (3) Baseball (4)Lawn Tennis 

8 
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~ 'fi1T (1 '"'1'& % : 
(I) N'Iit (2) '11<'11"11('1 (3) ciI WI I ('I (4) ('IFf ~ 

25. The amount of calories required by an adult of average body weight 
per day is : 

(I) 1500 calorie (2) 2000 calorie 

(3) 2500 calorie (4) 3000 calorie 

t('li B"'Jl1 Cfi3'A of; "111<'1'1 'liT llRlF<:"I ~ iIlctlft 'lit 31fC[~'Fbtll % : 
(I) 1500 iIlctlft (2) 2000 iIlctlft 
(3) 2500 iIl"iH) (4) 3000 iIlctlft 

26. For the good health which type of exercises are necessary ? 

(I) Light (2) Hard (tough) 

(31 Medium type (4) Regular 

~ ~ of; R>lq ~ -« ~ Wlifl: 'liT aW1I'1 31fC[~~ % 
(I) iR"liT (2) ~ 

(3) B"'Jl1 Wlifl: 'liT (4) f.1 '1 f"ltl 

27. In human body 'Fartlek Training Method' develops: 

( I I Speed (2) Endurance (3) Strength (4) Agility 

"IT'f'T ~rm- ii "lfilc!8ill m~TfffUT fi'lfq" -« fC1 illffl tl itill % 
( I) 'Tfu (2) mR~Ttmn (3) i'!PIXf (4) tjq<1C'1] 

28. The technique to swim fastest is : 

(1 ) Breast stroke (2) Butterfly 

(3) Free style (4) Back stroke 

m->Tm -« Frf.f 'lit <wfl ill % 
(I) ~$ (2) "ICl: 'R'l11f 
(3) 18 RI'i('l (4) ~$ 

9 P.T.O. 
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29. In test cricket, how many bouncers can be bowled in one over? 

~ \i1iif;c if <:% "11'3'"\'1< (Tf"o: ~ 'iT('fT) <:% ~ if f'iKR "11","\1': 
offii! 'In B"'li\ ~ ? 
(I) 1 (2) 2 (3) 3 (4) 4 

30. After emulsion, the digestion of fat is done by an enzyme called: 

(I) Renin (2) Amylase (3) Trypsin (4) Lipase 

~ '1<'1 fFI if; "q {hI qm 'lit tRR "Iffi >;'1"t I >; 'i 'lit ~ ~ : 
( I) 'tf.'R (2) l('i I >; iii "1 (3) s:; I ~M '1 (4) f;;R1rrrq lri><l 

31. A perfect food known as nutritious is one that: 

(I) Satisfies our hunger 

(2) Contains all nutritious elements of food 

(3) Has been cooked very well 

(4) Is easy to digest 

<:% ~ ~ flti'\ c!ifOc'h ~ ~ ~ oil 
(I) ~ ~ firer wf; 
(2) >ll"t'1 <f; "('{'4\ c!ifOc'h mer R<:14 f'1E1'iI'1 '3'R'1d:f it 
(3) flti'\ ~ ~ q'h'''11 'T"!l it 
(4) ~ if C311<:1141 it 

32. The maximum quantity in the diet of small children should be of : 

(1) Protein (2) Carbohydrate 

(3) Minerals (4) Vitamins 

~ ~ if; ~ if ~ "IT"'!T f'hwfil it-.fi ""~l( ? 
(I) mtR (2) 'h1«fl$I>;4:c (3) ftJ'1{(4 (4) fuf'171clrfioftJr.I'1 

33. Olympia city is situated in which country of the world? 

(I) Greece (2) Germany (3) Italy (4) China 

10 
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fcr~q q; f'R1 ~~T i'f ~('I'1R1'lI fBi! ~ ~ ? 
(I) lfm (2) ~ (3) ~ (4) '<1F! 

34. For remaining fit and health' what is most important? 

35. 

36. 

37. 

38. 

(I) Aptitudes (2) Attitudes (3) Routines (4) Life style 

fiWT ~ ~ ~ q; ~ Wii't ;mq~<I'li ~ ? 

(I) <8~f(1 (2) '1N >ifi'r1T (3) ~ (4)~~ 

Set Shot' is related to ? 

(J) Snooker (2) Squash (3) Basketball (4) Golf 

"m ~iTc" ~ i 
( I ) ',,;['1" (2) ~ (3) 61IFl>ciill('l (4 ) >iWJ; 

The weight of Javelin for women is : 

(1) 600 gm (2) 800 gm (3) 825 gm (4) 700 gm 

RW-iT il; Jj 8 T1H ZJj"f "IT{ <Wrr i 
( I) 600 lW! (2) 800 lW! (3) 825lW! (4) 700 lW! 

Strategy' Fast break' is related with the game: 

( 1 ) Athletics (2) BasKetball (3) Swimming (4) Boxing 

iU I41ril t ':::f:TT.S" it-cfi lJ fcnfl €viT fr ~':"m n- ? 

( I) c;iT~IR'm (2) qTFl;-C<lf(1 (3) m1'liT (4) iii I firfi'T 

Health 1S primarily a resp0.il.sibiIity of the? 

( 1) Community (2) Individual (3) State (4 ) Parents 

~ ~: f--<cwm Fli4j'1I(1 it ? 

(1) ~'<F:j ( 2 ) 0'1 f 4<1 ' 1(1 / 0'1 i<l<i f2I :iN 
I:') TI3'<f (4) 'WIT - fi'mT 

I I P.T.O. 
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39. Appendix is helpful in Digestive system of human being for? 

(1) Helpful in digestion of food 

(2) Maintain the temperature during digestion process 

(3) Helpful in secreting the digestive juice 

(4) Not helpful in digestive process 

"I11'l<'r e!; 'lffl'1 ;;i"3[ "lIT "l(q f.:s'R1" (1 "I q <41 ~ ~ 

(1) <5lRT ~ i'f 
(2 ) 'lffl'1 11 Rli q I e!; <f'l'1 <'II q 'i I '1 Pi 431 0 I i'f 
(3) ~ ~ Pi 'iiI (1 '1 i'f (1<)41'1 'I>':<lT ~ 
( 4 ) 'lffl'1 11 Rli q I i'f ~ (1" 41 ' I 'ltl 'I>':<lT 

40. The quality of Physical Education teacher is : 

(1) Civilized (2) Good performance 

(3) Young (4) Smart 

~ II (I P 'Ii f~TillT f~TWli e!; TT ~ 
(1) B'R! 

(3) ~ 

(2) .:wB\ 'Ii 14 eg~Ti"f<1T 

(4) c+!Ti 

41. Why good nutrition is necessary for good health? 

(1) Postural deformities (2) Development 

(3) Instant replies (4) Good habits 

~ ~-"f e!; fWz ~ ~filc'li<'ll 'Fit 0WI~'1"'h ~ ? 

( 1 ) f{~ fiN1 '"'1 ~ 4il \Iii tI '1 (2 ) fCI 'Ii I (1 

(3) "IFin <Jjqlefl (4) ~ ~ 

42. Aerobic power can be enhanced by : 

(1) Swimming 

(3) Short sprints 

12 

(2) Circuit training 

(4) Long distance running 



12P/222/21 

l( () M1Ji 'Wf{ if Cl "'1 Pi lit fi 1Ji('\) ~ ? 
(I) m it (2) mfit,c ~T!ffUT it 
(3) 1Jil1 ~ '!it ~ it (4) ~ ~ '!it ~ it 

43. Blood gets de-oxygenated in : 

( I) Muscle (2) Nerves (3) Lungs (4) Heart 

1St1 ffi 011 if(1~ Ji 'i " lit "ffi1T ~ : 
( I) "I fi ct1 if (2) 'fill if (3) ~if (4) mt if 

44. Goniometer measures ; 

( 1 ) Agility (2) Strength (3) Speed (4) Flexibility 

JiR (!jl <l1 c { it 'WIT "ffi1T ~ : 

( I) ijq(ijiil (2) QWR1 (3) 'lfu-

45. The Basal Metabolic Rate may vary from person to person but it is 
closely related to a person's amount of: 

(I) Weight of the body (2) Physical activity 

(3) Muscular energy (4) Lean issue 

"rwl i'lcr4lfA1Ji q oqf?R1<ft if 31WT-01Wf lit (Ndl ~ 'f{ Zfi\" oqf'td 
~ f.Tq if f'r r:('li it 'i"141qij ~..cr g : 
(1) ~rm- ~ 'lTT (2) ~>ITllnfIRRr1Ji= N>'lI1Ji<1IQ 

(3 ) "I fi '§ ~I r ~Tf<;n (4) <I<l<:"fl1R 

46. The first National Marathon Race "vas organized at : 
(I) Allahabad (2) Pune (3) Kolkata (4) New Delhi 

'lQill T[~ i{T["" 011,jlFl-td fo!;<rr 'l'TI ''IT : 

(I) 'lWl5]CfK (2) ~ (3) q})(ijilildl (4) ~ ~ 

13 P.T.O. 
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47. Physical exercise done in presence of oxygen is called? 

(1) Aerobic exercise 

(3) Isometric exercise 

(2) Anaerobic exercise 

(4) Isokinetic exercise 

311 'ffIlGj 'i offi ~ if ;;iT ~ II DRiIi "11 '11 '1 folii\ "lriI ~, '3B 'liW i: 
(1) l(Dl"'liIi "11'Wl (2) l('iIDl"'liIi "11'11'1 

(3) 31I!F-n i1 IS: iii "11 '11 '1 (4) 311'\ '"1 'hI ~ '" ~'h "'''1'"1 qmlu'1 

48. Rovers Cup is associated with the game: 

(1) Basket Ball (2) Chess (3) Boxing (4) Football 

~ 'h'l figr ~ B '1 '<10,,, i ? 

( 1 ) iii I (-cf; c 'lR'f (2 ) i'ffi 

49. What is manufactured from the iron that we obtain from our diet? 

(1) Blood cells 

(3) Bone Marrow 

(2) Haemoglo bin 

(4) Protoplasm 

l<'l ;;iT ~ ~ i ;mit ~oq z;ffi<r B f'li'1'h1 

(1) \<PI -ffi<r (2) %'11,<111"'1 'i (3) <iR iRr 

50. The highest Indian sports award is : 

3('11~'1 ;ilm i ? 

14) Ui8'<11~'1 

(1) Arjun Award (2) Dronacharya Award 

(3) Rajeev Gandhi Khel Ratan (4) Padam Vibhushan 

~ ~ ~ ft'rD: Cl ti'l ('I '1 q I R ",1 yq 'h i : 
(1) ~ ~ (2) «I,nvnoll"'i'llm4 ~ 

(3) {lc1i q <IT<TI ~ \M (4) qu fcl'fM 

51. "Scoliosis" is a postural deformity related with: 

(1) Foot (2) Leg (3) Vertebral column (4) Vand 

14 
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( I) eM 'liT f.N 01 '1T'T / "f" 
(3) q,~cil{~1 'h10~ 

(2) CPT 

(4) 2R; 

52. The 50th percentile is also known as : 

(I) Mean 

(3) Mode 

(2) Median 

(4) Standard Deviation 

Q'"1m<ff q,fI"""i0 

(I) ~11m! 

'lit $ m 'IiW ~ : 
(2) ~ 

(3) ljTg (4) R'sg ",jJerQniijCr{1='i 

53. The Instrument to measure heIght is called: 

(1) Vernier caliper 

(3) Stadiometer 

(2) Dynamometer 

(4) Goniometer 

~'"11~ ~ om'! '3Q'h{OT 'lit 'IiW % : 
(I) 'nf.'i;q { 4;Fi'!Q<! (2) sl'1'i4i ~ 
(3) {~fg<7tJflc( (4) ,nf.'i<7t4k( 

54. Standard Deviation represents spread of scores around: 

(1) Mode (2) MedIUm (3) Mean (4) Range 

,.~,:sg ili?fffR ~~f9fff '!iT'TI % 
i 1 \ "115 (2) [rrSwr 

,,'f<'ii3m1-qrn ~ 'liT ~ 

(3) >fA (4] R 

55. If the mean of five scores is 25 and standard deviation is 0, what will 
be the value of fifth score? 

'l1'T{ F,p,'1 5 '.--6IT 'liT liS11' 25 g ;3'f" ~~ ilfCI i1 {1 'i !["'1 % en ~ 
~ -.::fiT ,'·1 i.., iPlT : 

(I) 22 (2) 23 (3) 24 (4) 25 

15 PT.O. 
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56. The another name for percussion manipulation is : 

(1) Petrissage (2) Kneeding (3) Pressure (4) Taporment 

""R'fi~1'l iljgi'l~1'l" 'liT ~ '1T'! ~ : 

(1) Qf!:fi"1 (2) Pill'l (3) i:t~R 

57. The richest source of protein is : 

(1 ) Pulses (2) Groundnut (3) Soya bean (4) Egg 

~ 'liT >lW ~ ~ 
(1 ) ~ (2) S;' ICjj('\1 (3) ,cJl"wfH (4) ~ 

58. Harvard step test is a test for measuring: 

(1) Leg strength (2) Cardia vascular endurance 

(3) Agility (4) Speed of movement 

~ "fiG:l'l ~ B f.'r9 ij B fil;ffi % em ~ em ~ ~ : 
(1) eM em 9 "1CJ:8'1 (2) 'lil~'i) "I{1'!l"F BR~Ttmrr 
(3) qq"kll (4) ~ em '1ft1 

59. In which activity Lactic acid system activated? 

(1) 100 mts (2) 400 mts (3) 10,000 mts (4) 20 km walk 

~ khq I 'Ii"\! q B i'I fifC'Ii I:(fug ~ ij <ftm11 01T<ft ~ ? 
(1) 100 ~ (2) 400 ~ 

(3) 10,000 ~ (4) 20 f2hMl'i)c{ ~ 

60. Sphygmomanometer is used to measure: 

(1) Blood Haemoglobin (2) Blood Cholesterol 

(3) Blood Pressure (4) Blood Volume 

16 
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("Ii' 19 -I ~;f) 41 c ( lJT1:!i't iii 'WI if iJWTI l' : 
(1) 0R1 )l,j)'<"IIf2i'1 (2) 0R1 'R'i){'I<'Cl<"1 

(3) 0R1 'qTq" (4) ~ U'1'"h<1 

61. Which artc01 carries the supply of blood towards heart? 

(1) Carotid artery (2) Coronary artery 

(3) Pulmonary artery (4) Radial artery 

'Ii'R m ~ ql~;fj '1R>1'h1 ('Jcr.ft) ~ '!5t 0R1 ott ~ <1i""WT l' ? 

(1) iiilYciS ~ (2) ¢Izhu ~ 
(3) ~ ~ (4) "{fdi.:id ~ 

62. \\Thich of the endocrine gland disappears or is reduced to a very small 
Slze after maturity; ? 

(1) Gonads (2) Pituitary (3) Thymus (4) Thyroid 

qR'Ii<'11 = rri'r eft ~ ill "",iliJ'I~'1 ~" <IT ffi ~ 8'rcr iI -mm 
% 3'f'1'lT f211'<l ;iT -mm % : 
(I) '11'11:5 (2) iCiqcD (3) "<W1l:1 (4) "<1i.:i<Hi:5 

~ 

63. In a cardiac cycle what is rhe ratio of ventricle systole and ventricle 
diastole? 

64. 

t;'fi 'lilf~ "lm if "i)-'1Ren~r I(Hc8~I" '*' "~'1r;:en<"l iSl~(i)<"I" 'liT 
31'jQI<'1 rrffi ~. : 

.~ 

(11 0.1 sec/0.7 sec (2) 0.2 5ec/0.6 sec 

(31 0.3 sec/ 0.5 sec (41 0.4 sec/OA sec 

Which of the fol1cnving is a scalar quantlty ? 

(II Mass (2 ! V/t:ight (31 Velocity (4) Gravity 

Aif -q;r'f ' ' ilmFdlii" '" 7 ;q .~ n 

i I ) '1TB (2) 'in (3) 
, 
'PI (4) 2Q (CIlenqol 

17 P.T.O. 
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65. Goniometer is equipment which is used to measure: 

(1) Strength of Muscle (2) Angle of joint 

(3) Blood Glucose level (4) Blood Lactate 

<i'R'r0i'l"ole{ '3Q'M"1 'fiT '3Q<l1'1 f1nB <ft"! ciit "I1"I'R if f'li>IT "fTffi ~ 7 

( 1 ) "lBOf q\j ~Wm 

( 3 ) '%:'l if '<'J~ "1 'fiT "" 

(2) ~ 'fiT 'liM 

(4) '%:'l MoRe 

66. The Law of acceleration is also known as : 

(1) Law of inertia 

(3) Law of momentum 

~ ii> ~ ciit 'TI< '4t ~ ~ 

( 1) "1Sill 'fiT ~ 

(3 ) 3m'! 'fiT ~ 

(2) La\\' of action and reaction 

(4) Boyles law 

(2) fiWlT QCi ~RiRf;ql 'fiT ~ 

(4) &11'kl 'fiT ~ 

67. The degree of uniformity with which vario1...:s tester score the same 
test is found through: 

(1) Validity (2) Objectivity (3) Reliability (4) Norms 

Q,'li tt ~ ii> \W:( ~ ~ '3Q'Jj{On -G = lJ"RT~ q\j Q,'li ~ 

f! = -&tffi % 
(1) (1~91°1(11 

68. The greater the momentum of an object: 

(1) The greater distance it will travel 

(2) The stronger it will react 

(3) The lesser distance it will travel 

(4) The higher it will go 

18 



RtW mg 'R Fild'1l ~ 31fcM !WIT : 
( 1) 'It< '3(f'1T "'1T&T ~ ('!'1 ~ 

(2) ~ ~ ~ffim B 'It< lOImf4;;'l1 ~ 

(3) 2fil1 ~ ('!'1 ~ 

(4) ~ ~ ~ "'fT[;< "" CilI'1'11 

12P{222{21 

69. The axis around which a movement takes place is always; 

(1) At acute angles to the plane 

(2) At obtuse angles to the plane 

(3) At right angles to the plane 

(4) At no angle to the plane 

~ Mf1q, "!lit .m-t "Il<'! Mr %, 'It< ;;i'r~1T 

( 1 ) <1'@1 ( t1'mr) B "'i" 'liM "I '11d1 % 
(2 ) fl9 d <iI B 01fi:r<n 'liM "I '11 d I % 
(3) f19d<il B f19'li1 u l "1'11(41 % 
(4) fl9d<il B 00 'liM 'n" %f ~ 

70. During exercise rhe Cardiac Minute Valume in the average man may 
rise from four litres to : 

oql~IP <m ,w,,, if ~ "9~ if "'hllfsl('h fl'Rc EFl'1i<il 'C!R ~ 

B <!Ce'h ( liT CiIl\1T ~ : 

(1) 12 <;en;: { i2) 15~ i3) 24~ (4) 25~ 

71. Which one of the following countries was suspended from the Com­
monwealth in September 2009 '? 

(l) Fiji (2) lmn (3) Myanmar (4) Sri Lanka 

19 P.T.G. 
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Pi"1f<>tf<SF"1 if ~ fiR! e:~T 'fit {I'l;'!3(1 e:~T ~ Ri<'1"'1 ( 2009 if Pi(1f.:oi<'1 

'R fu:<rr 'T'1T "IT ? 

(1) fit;:;ft (2) ~ (3) 9q91{ (4) ~ 

72. Which Country has won Compaq Cup in September 2009 ? 

(1) Australia (2) India (3) South Africa (4) Sri Lanka 

(2) "lTm 

73. Mohd Kaif is associated wIth: 
(1) Billiards 

:-);0 ~ ~ ~ 

(1) ~31i 

(2) Cricket 

(2) ~ 

(3) Golf (4) Chess 

(3) ~ (4) ~~ 

74. As the train starts moving the head of the passenger sitting inside 
leans backwards because of : 

(1) Inertia of rest (2) Inertia of motion 

(3) Moment of inertia (4) Conservation of mass 

~ tt "{(1' 11'f\ 'E!<'RT mt>r '!mTI % 1(1' II I,ll oiJ ~ ~ ~-31f zrRt <1m 
" "f1I; ~ "TI<"1T Q, 'tql : 

( 1 ) forl.T'l q\] ~ (2) "ffi'f q\] ~ 

(3) ~ "f'T (4) ~ 'Ii! -31j1{1ul 

75. What is flexibility ? 

(1) Isotonic movements 

(3) Concentration 

20 

(2) Health 

(4) Long life 
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(I) 011$101"'1 Of, ~ 

(3) «<'hI <1'1 I 

76. Shut~le-run measures: 

II) Explosive strength 

13) Agility 

m<'f - '" 'iJ'Ti1 'hT<i1 'e; 

( I) [<wil "'Ii ~ffim 

(3) qo('ji'jl 

( 2) RilT"f 

(4) '7Mt ~ 

(2) Speed endurance 

(4) Speed 

(2) TJfu f.'I (·fF i'j I 

(4) TJfu 

77. Are heavy exercises good for sound sleep? 

(I) Yes (2) No (3) Sometimes (4) Never 

'FIT '1lft oq I '11 '1 'TI<ft f.1m <f; fW! ~ ~ ? 

(1) <IT (2) -.,tt (3) <'h>ft-'/i'lft 

78. Fatigue comes during training due to ? 

II) Lactic acid (2) Adrenal 

'3) Carbon Di·oxide (4) pH-Factors 

m~mU]" 'lit J,i"ffu i'l 

(I) 8f4c'li ~ 

"l"lWR <'liT 'IiR"T ? 

(2) c(il'i('j 

(3) ",lei" ¢31Iiff1l$il (4) eft "'" !tote ( 

79. The measuring ir:.strument of Blood pressure is : 

(1) Steadiometer (2) Menometer 

(4) 'Ii>ft-.,tt 

(3) Sphygmomanometer (4) Dynamometer 

21 P.T.O. 



12P/222/21 

{'R1~lq 'lit ~ qffi ~ 'lit ~ ~ 7 

(1) <:i!f%<i'l>l1c:{ (2) i'i..n>j'ii;!{ 

(3) %1~'I<fIi't;fl>l1c{ (4) $1~'11i'i ~ 

80. How many types of joints there in human body? 

'1Ai'f ~~ i'f ~ ~ <fi ""ll~c -&m % 7 
(1) 2 (2) 3 (3) 6 (4) 9 

81. Balanced diet contains: 

(1) Protein 

(3) Carbohydrates 

('j tJ,RIt1 ~ i'f "q<'j ar .mrr % 

(2) Vitamin 

(4) All of the above 

(1) miR (2) Mclf"l'1 (3) <'hlql~I'i~C: (4) "qU'R1 ,,'4\ 

82. Which of the following is not a principle of lesson plan? 
(1) Age and sex (2) Progession 

(3) Teacher experience (4) None of the above 

f.iy81fult1 i'f ft ~ m "ffi1'1 'W'1/ffi1'1 '41"1'11" "<'hT Tf1%\kl ~ %7 

(1) '3!1' ~ IWT (2) ~ 

83. What does time-table indicate? 

(I) Load of work teacher only 

(2) Working hours of the school only 

(3) Location of class or teacher at a particular time 
(4) AU of the above 

22 
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( I ) ffiq\ filT!ll'li 'R 'liT'f'lR 

(2) ffiq\ f21 a I "1'1 <N 'liT'f 0T'IfiT 
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(3) Q'Ii f.lf?itR! wm 'R 'liillT C(Oi filT!ll'li <N '3tlft~ 
(4) 3'1 fl'lct Bm 

84. Study of joint is called? 

(I) Kinensiology (2) Biology 

~ ii; 31~ ciir ~ g 
(1) f't'i 'if" <lklIJfI 

(3) Bonology (4) Arthrology 

(2) ;:;f)q f21 $11 'i 

(3 ) 31ft.... f~ $11 'i (4) ~(W~) 

85. Boxer muscle are: 

(1) Deltoid 

"I'ffi ( '1 fkB ~ 

(I) il"sl'1s 

(2) Trepezius (3) Abdominal (4) Saritorious 

86. Thoracic vertebrac~ consist ot' : 

(l! 7 bones (2) 8 bones (3) 10 bones (4) 12 bones 

87. Introve!"t5 arc interested in : 

(1) Themseln::s (2) Others 

(.3) Both I and 2 (4) None of the above 

23 ~~O. 
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'l1<4~@ ~ ~ ~ 

(1) ~ "WI i'f 
(3) '3Q U'Rl 1 $ 2 i'f 

88. Mental development includes: 

(1) External organ 

(3) Both 1 and 2 

'11 "1 [f1'h M 'h Il:1 i'f \1 f.';Oj \11<1 % ? 

(2) ~ i'f 
( 4 ) '3 Q U 'Rl f<lim i'f '!t! 

(2) Internal organ 

(4) Reasoning and thinking 

(I) om-;ft ~f.'5;ql (2) ~ 'lit ~f.'5;ql 

(3)3QU'Rl 1 Q!'i 2 (4) M'1I{~ffim Q!'i M'1I{ 

89. Sunlight is source of: 
(1) Vitamin A (2) Vitamin B (3) Vitamin C (4) Vitamin D 

~ 'lit fit { OJ -'>i'tTI ~ ? 

(1) MclP1"1 C( (2) MclP1"1 m (3) MelP1"1 'ill (4) MclP1"1 it 

90. Deficiency of Vitamin D is causes: 

(1) Beriberi (2) Scurvy (3) Ricket (4)AJI of the above 

M di1 "1 it 'lit Of>'fi it 00 % 
(1) ;Wci1n (2) ~ (3) ~ 

91. Total number of vitamin required by human body are? 

"l1'1'! ~AA i'f ~ ~ W!if{ if; MclP1"1 'lit =~"l'h(11 % ? 
(1) 10 (2) 12 (3) 13 (4) 19 

24 
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92. Basic principle of Fartlek training is : 

(11 Variation in space (21 Variation in pace 

(3) Variation in duration (4) Variation in place 

'b1i!:0'1i ~JlffU1 '!if "K'f lfl'\S;I'fI % 
(1 ) ~ if 0F1{ (2) <Wr if 0F1{ 

(3) 31<Ifq if 0F1{ (4) 1"..:rT'l if 0F1{ 

93. Olympic ring indicate: 

( 11 Five continents (2) Five rivers 

(3) Five country (4) AU of the above 

~f1 <il f""l 'Ii fM ~ % 
( 1 ) qtq ~~T (2) qtq oro 
(3) qtq il:~T (4) '3Q iJ'IfI ri 

94. How many entries per event afe allowed in Olympics held? 

;J{]<il f":q 'Ii if ~ ~ if fil?'R ~ it wR't ~ 7 

(1 ) 1 (2) 2 (3) 3 (4 ) 4 

95. Agoge was in ? 

( I) Greece (2) Rome (3) Iran (4) India 

cni'rT 3~ . . 'iT ? 
(1 ) lfrB (2) WI (3) 

, 
;r<R (4 ) "'I'mf 

96. Origia of cricket was? 

(I) Greece (2) North America 

(3) England (4 ) India 

25 P.T.O. 
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(I) lfm (4) '<IT{d" 

97. The Arjun award was instituted in : 

(I) 1960 (2) 1961 (3) 1971 (4) 1977 

98. Where was the first World Cup Football held in : 

(I) Uruguay (2) France (3) Canada (4) England 

(I) ~ (2) g;ffi (3) 'Ii'1 I," I 

99. Term free throw is used in : 

(I) Hockey (2) Cricket (3) Baseball (4) Basketball 

"<;lit !.TI" f'nB ~ if oq q tzd -.mrr ~ ? 

( I) l<T'!it (2) fu,iR: (3) cit fl iii I <'I 

100. When did Indian won the Cricket World Cup? 

"1Tm 't '"" fitiBc qi 'fi'[ o\tdT ? 
(I) 1975 (2) 1979 (3) 1983 (4) 1987 

1,000 

26 
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iI=r ;f/('f/ - <FiTriI 'fT1'T - rznP: iR " it fffii) 
1. lI<'f ~r*<l'lil 00 it 10 fil'lZ it 3R\ fft ~ 'fi f'I; ~ i\ wfr T'" ~ ~ am ~ 

lI<'f 'FI ;ffi ~ I ~r*<l 'iiI ~''i'" whiR 1!'( ~ '!"l'l1 ~ ~ -f.rfu.;q; <it ~ ~ 
~ 'Iii <;mt ~r*<l 'iiI = 'li'( 'fi I 
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i\ 'I mitl 
3 , ::roT - !I> JTM1T " Wn 'T'lT ~, .-it" '" '"1' '*' " it ftq;ir <rli <pm ::roT - !I> 'fit Wn 'rripm 

iI=r 3"i1T-!I> q;r it ~""iili" fiFi1lT 'Jf)'iprr, 

4, wrn 3Flfu~i'li (I'll 3ij'(-'!'i' EfiT Wli'ii ~~" 3=-T'" 1!'( if;[ it f.l'1fftll>lR 1!'( mis!1 

5, 3"i1T-!I> it ".", 'l'" lIT iR " 3/fRT 3IjiMiili f./Qffirl 'fWR lIT fMif = :flit ~ '[ii' q# 

'TT?T "" ~', ",.r-",.r 31,4,,,iIi it..r N'f-9MiIi, q;r """'" "fIT m: q;r :)7<1'( ff.rrr P!l1'ft' 
lIT fMif, 

6, Jita ,,'l'a JlT'i'a !I> lIT 31jiMiili mw, 'N9/iiiili, mw ". m: mw (~ iiiT{ it) "fIT 

R~"f1fktf$j1 rn: 31dth qi;:jj Jitr 3ft" I;JT" 31T[" IT;1 ifWlT qff Jlfbfilqr 11' aQnr1IJi101 q{f aqrrfrr 
'fitt, 

7, ~ ,(Om.)' if iiiT{ iii onOff' 4if,r f.riI8,1<6 iiffi ,.livm iRr 'iilTftit 3RrfIT.,. "iii' ~ 
= q;r JTlitq = 'Jf)'iprr, 

8, N'f -9MiIi, if JrIiIq; N'f it "'" i/iliffilili 3"i1T ~ >W ti JrIiIq; N'f it i/iliffilili 3"i1T it 1M!( 
3rTfIiIi'T 3"i1T-!I> q# N"'f.irn ~ it ~ ~ >W iJ'f q# 3"i1T-!I> it ".", 'l'" lIT ~ 'Tit 

f#m'it 3IJfIIr iR " 'TT?T iIi'RT ff' 
9, l!i'% lI<'f if; 3ij'( if; ftm: m 1% fft '1'f <if ~ Eti1: I 1% it 3lf'l'li ¥r <it ~ q;8 

1!'(31'l'lT 1% '1'f <if 3l'jUi 'crf.! 1!'( '$ 3ij'( TRif 'lRT ;;nirn I 

1 0, """ if fiE; "iii' "" PlTi/I iiffi 3ifincr 3"i1T >m'rT 'fit' "" mmrr d, >&: _ fiF;if; N'f q;r 3"i1T 

'fit ~ """ t; '" if;if"" ~ it; !WI" ~ >W "iii '[iI 0;) mffl m. if' # w.ff lIT ?J?l 
3iiii' ~ "fIifit, 

11. >:'Ii q;l'f if; ftm: lR'l-gMq;1 if; ~~'<3 if; ~ i'Ifffi T'" (I'll 3ij'(-~M'li1 if; aifu'! T'" 
'liT m"Efi't1 

12, ~ if; ~ itw Jit "" JIT'i' 3"i1T - "" ~ 1jq.f it O!'IT 'li'( ~ I 
13 , WI\lT WlT'i! itil it ~ WI\lT 1jq.f B ii!Ti;T ;orR 'Iii 3JT!fu ;ffi ~ I 
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